aper contains 16 printed pages]

E. qﬂestion |
L Roll No.
No- of Questio” paper 7007
s;tiquc pperCode sl 4
:ame i PaPer Fundamentals of Financial Management

f the Course B.Com. (Hons.)

e

"/

puation .3 Hours ' Maximum Marks : 75

e your Ro]l No. on the top immediately on recezpt of this quesnon paper. )

An
but t

swers may be written either in English or in Hindi;

Note ==
he same medium should be used throughout the

~ paper. _ )
W—Wﬂﬂaﬁﬁﬁﬁfﬁﬁwww
# qiferg; W mﬁaﬁﬂwmwnwﬁrm

el |

froeft :—

'Attempt AII questlons

All questions carry equa] marks.

Use of simple calculator is allowed.
aft v @ sw AR
et g ® T A gl

%?cgézt 1 I@@m A T

I‘lSk in capital budgetmg

L
@ How can you incorporate
: 4

decisions ?
P.T.O.
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(__ 2 2 , - 700)
®» A compény is con51der1ng comPUtel‘lzatlon f‘ls
mventory and billing procedures at a cost of ¥ 3 ™
Installation charges are ¥ 50, 000. These outlays will
depreclated on a straight-line basis to zero book Valy,

; which will a!so be its salvage value at the end of | i
life of 5 years. The new system will require t%
Computer specialists with annual salaries of ¥ 4 00
per person. It is also estimated that annual Maintenang,
expenses of ¥ 12,000 will have to be incurred. The ney
system will lead to reduced production delays, g,
saving ¥ 2:0,000 annually. It wihll also help to avoid stock
ﬁut cost of ¥ 25,000 pér year. Timely billing ﬁill increase
. iriﬂow-'by ¥ 8,000 per year. Six clerical empldyees, with
_annual salaries of ¥ ZO,GOO_ ceach, will also become

redundant. The company’s tax rate is 30% and required

‘rate of return is 12%. Evaluate ".th_é project.

What will be your decision if salvage value is taken
as ¥ 30,000 for purpose of calculating depreciation, even
though the machine will be worthless in terms of resale

value after 5- years ? - 1

(a)mmwﬁvﬁﬁﬁf@qaﬁ%ﬁwﬁﬁ'
T GHRd T 2

(ﬁ) @Wnoooooaﬁﬁmﬁwaﬁﬁaﬂ‘
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~ of long term projects.

( 3 ) .

007

Eﬁ fﬂ]lm m

@ ¥ T REH X 50,000 )

aﬁgﬁammm|%¢ﬂw%

fip afien TO-TOE B 2 12,000 T 553 5,
7 yorell ¥ SO H F omrh oy e
9@ % 20,000 BT TR Rt 99 7 25000 i
AR AP W F= # Ot weg ferh . 5
w fafedm @ wfa ¢ 2 8000 # afs 3
20,000 MMHH I T A@ T: fofen
ff frds & RN T B W B R 0%
ok T W 12% ¥ IRASE H T
e % SREd B fg € 30000
%, ety 5 AW B W W T P
% oER e @ e
~ Oor(AIA)

| evaluation
Critically evaluate the payback method fr

+

i sal to replace
Able Electronics is considering 2 propo

ee years
after which

old now:

ago for
a machine which was bought thr

¥10,00,000. It has a remaining life of 5 Y

_ £ it 1S S
o e. But if |
it will have no Isalvage valu p.TO.
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(1)

(%)

T T T @ S ad g @

- 21500000 § TH T stfiren sperer wei S

A4 )

it will realize ¥ 6,00,000. Its maintenance cog; e

to increase by ¥ 50,000 p.a. from the sixth Year Cly
| , ar g

installation. A new, more efficient machine ;g v
]ahl
;

- for ¥ 15,00,000. This machine can be sold for 3 6,00

after complet'ing its life of 5 years. This ney, Magy;
3 3 ln

will lead to increased productivity, thereby incfeasl-e
T "g

the revenue by ¥ 1,50,000 p.a. It will alsq redy,
_ ¢

operating expenses by ¥ 1,00,000 p.a. The Compapy,

tax rate is '-50% and cost of capital is 10%, sy
straight line method of depreciation. Advise the COMpany
about the replacement.

What will be your decision if the expected salvage valye
of the new machine is ¥ 2,00,000 ? 1l
el aREHRT & Tedied & fad 3-%
TG0 H AR oA HIACI
A R TH UE HYi # aeen @
TEE W foeR = @ g R de g T
¥ 10,00,000 § BRI AT AT THHT 9§ AT
TH ¥ fowe R’ o wE o @ © .
T AR T af = s a2 6,00,000 F L

ﬁﬁmﬁ?so,oooﬁq@@ﬁﬁa’nﬂﬁg'-

%ls‘q’ﬂf%mﬁaw,aﬂﬂﬁﬁﬁf:
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G 2 b 07
mﬂﬂﬁ %6oooooﬁa-qmﬂw-

Wﬁﬂﬁa‘i?lSOOOOHﬁ?ﬁza’ﬁ|m
qﬁﬂmmﬁ o wid 3o 21,0000 F
@ﬁ‘m’vﬁ?ﬁﬁ—ﬂ 50% & e I =
| 0%%|%Wﬁﬁﬁi@ﬁqmm
@ qﬁ\'@mq% Hﬁﬁmﬁ@m
aﬂfs\m |

H‘ﬁ‘ﬂ?ﬁ‘iﬂﬁ&ﬁﬁWWﬂﬁnooooo
_%?ﬁ SR ﬁﬂhwm 2

 What do you understand by Agency problem ? How

) (@)
 can it be resolved ? 4

(o) Prepare the income statemcrns ﬁ'om the given financial

data for Company A and Company B for the year ended

31st March 7017. Also comment On thelr financial
11

position. e o . |
| Particulars Corhpany A | Company B
Variable expenses as % of sales 667 75
| Interest (i Rupees) 200000 | 300000
Degree of operating: leverage . L 6
;;_IDEQI‘GB of financial leverage 3 4
{ Jncome tax rate aas | 038 ol
| w7 W

(aw-)qeﬁﬁaﬁmw@m
—%ﬁmﬁvmwm% ?
. P.T.O.
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A Y

(a) 31 o, 2017 3l

( 6 )

@ “A mﬁée.of today is not equal to a rupee of tomonow.'l

Explain.

aﬁImBﬁﬁﬁmﬁﬁq%ﬁﬁ&

o R Wi S T oy

fraquft RIfSTC | | §

HAL

g A | F
TRadt @a fod % il s
= @ W S
. o s ® A N 6
i RS @A > ‘
TR R n 035 035

' | _Or/(m) T

4

() - Calculate the overall cost of capital of Sushant Ltd. ﬁ-um
the. information given below usmg book value welghu

" and market value weights : i i

. . Book Value Market Valy
e

Equity Shares of T 10 each . 400,000 6,40,000

12% Preference Shares of ¥
100 each EERE 100000 7500 |

(Redeemable at par after 10 years) _

11% Debentures of T 100 each . 2,50,000 2,25,000
(Redeemable at par after 5 years).

Reserves | 1,00,000 =

\ ———
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| La'stk year the .company paid a dividend of 3 220

ast . . | , 20 per
share. It is expected to declare g dividend of % 2.42
l’,er share. The company has been maintaining ;he'
growth rate in dividends over the years and js expected

_ to do so in future. _Tax rate is 40%,
(a0 V'S FTE I BA D T T &
 qd@ B s %Ql o

(@) @@ T YRR ISR e WR w3
Q. @ M q W IR ¥ f o
ISt w HA A I UM, HIST

St - ® - ®
o S WRE T 10 400000 640000
(2% ST S 2 100 T 100000 75,000
o o WR WS W

1% fedmd 7 100 TR 250000 25
- T AR T W
FIRER)
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(@)

@)

- of 2 months to its customers and gets a credit Of‘_‘.

( 8 ) L
. - 1
¢ .42 1w faer W‘q’ﬂ‘h}m%-
ﬁq@'ama%aﬂ?mw“
& ey 1 W H A% T )

he different approaches to ﬁnanciﬁg of Wor
, hg ,

| Dfscuss t
caphaL : e, 4
From the following information estimated by Swastijk ly
for the next year, calculate the working capital requir
on cash cost basis : |
_ {
Sales (at gross profit of 20%) 27,0000
Raw material 6,75,000
Wages 340,000
Manufacturing Expenses outstanding |
at the end of the year 60,000
Total Administrative Expensés - 1,80,000

90,000
"1,00,00

Total Selling Expenses

Desirgd cash balance

Finished goods and raw material ﬁre kept in stock 10

meet | month's requirement. The company gives a credit
2 months from its suppliers. Wages are paid With 2 4

time lag of 15 days. All other expenses are paid with, {

a time lag of 1 month, ‘There is no work in progres 4
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2 ) C—
. ] ' 7w7

 The compaly JEudes depreciatioy, in s
production. Finished goods are valued g manurCOSt of
cost. A safety margin of 150, i (o ' acturing

o ¢ Maintaineq, |
'(g)faaam T | | Eﬁﬁﬂ""fﬂﬁmﬁ
oo ® T v :
) | R s
(d fre ST q, T T % ST s

fFd 0% B TEA Y

27,00,000

o w WA T 675000
A SN e
ad & o/ frafoht = S
@ ToEEE e .
o fowa @ %0000
fe Hs W 100,000

e PPTRRT Yo avnmnh‘,ﬂ.Does
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(@)
(b)

(37)
()

TR 550 Rl ey W o=t #t w@m @l
1075 9f0 ey m_%l . mgﬁ;}

( 10 ) _ |
Or/(m | _ ?"fl'

‘What are. the different motives. of h_O]diI:]g ‘C&s-h
A compaf;y manufactures 1,00,000 units of prujq
Y

| . "
% 60 per kg. It incurs a handling cost of . 2-00 4

annually from a raw material which js. Purcy

freight of ¥ 550 per order. The inventory 'Canying,and
of the raw material is T 0.75 per kg per o
i e lﬁ

addition, cost of working capital ﬁnélnce on |
' : 3

O
of g,

investmeﬁt in inventory is ¥ 6 per kg per annup,
kg of the raw material can produce 2.5 units.

pr.oduct. Calculate :
()] Econﬁmic Order Quantify
(i) Frequency of c-ardering
(aii) If thg 'compény Iw_ants to‘place orders on quarterly
ba;is, " whalt percentage of discount on the pri
of rafv material should be négotiét:ed 2 -9
R F R s@vE e )
Th FEA T WA ¥ WA 1,00,000 I TR
T T R 60 Ry Frel @ e @ &)
ST %1 S duefiin i ¢ 200 e A

T R anve R o
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OB

0 311&‘33‘@?[1]]3”

R sy M e
T W T T R g R o yﬁm
W AR e Tk 7
What are the dlfferent approaches to- calculanon of cost
of equity ? | “ ' |

_ 4
A company needs to ralse < 10,00 000 for a new project

~which is expected to ylcld an annual EBIT of 3 1,60,009.

It is considering a possibility of i issuing equity shares
along with some amount of debt It has an option of

raising a debt of T 1. 00 000, ¥ 4,00 000 or ¥ 6,00,000.

Debt is avallablc to the company at the rates indicated

“below : | |
Upto 2 1,00,000 E : 8%
Over ¥ 1,00,000 and Upto T 500,000 : . 12%
~ Over % 5,00, 000 ' D 18%

Current market price of its eqmty share is ¥ 25 which |
is expected to drop to T 20 if funds are borrowed in
excess of ¥ 5,00,000. Tax rate for the company is 50%.

te
Suggest the best financing alternative. Also

A
financial break even point for all the thre optlcmST 0
P.T.0.

e ——
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( 12 )

(a)%ﬁaﬁﬁwﬁmﬁmﬁf#ﬁ%1

(=)

T ?
@mﬁﬁﬁﬂﬁmﬁm?mm%
Wﬁw%ﬁa@aﬁa;mn:lm“

. gfiea # eEli ¥ A€ BE ORI U 5 l

% 1,00,000 T : B
7 1,00,000 § 37 TAT X 500,000 TH : 129/01
500000 9 AEE : 18%

(a)

(")

FT T &1 SEH T 1,00,000, ?400000111?6000%

gﬁaﬁ@qﬁaﬁaﬁmﬁﬁﬁmq‘{%

mmﬁm@ﬁw%'ﬁﬁw
mmﬁaﬁmm%

@ REd R F OHA TR R 225 3
St iR 7 500000 § E F IR R A
W20 T A H SR ¥l O F R
& T 50% &1 T o7 fardr faened gunwl
mﬁﬁ%ﬂ%fmﬁ%ﬁum—mﬁg
(-3t forg) # o TR wfW)

Or/(m

What behavioral jusﬁ_ﬁcétidn is given l.3')’ the MM

'app_roach to prove their hypothesis 'about the Cﬂpit“1I

structure decision 9 4

Company X and Company Y are in the same risk %

and identical in all respects except that Y uses debt

e e
—
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bt g

i Wy '
_‘ | 7007
of 2,00,000 carrying an intereg of 129
js an all equity firm. Both Companies gq

20% on their assets of 4,50,000

3 Whereas X

() Calculate the value of by, the compani
| | 1€S and
their overall cost of capital under the net in
Come

approach taking cost of equity as .50
. 0,

(i) Calculate value of both the companies and equity
. ] 1

_capitaliiation rate using NOJ épproach taking

overall cost of capital as 15%,

(i) Compare the fesulfs_ and 'comment on the
diffel“ences.-,_ ; - I
() Tt dem fofa & s’ F s wRewem =
fes & fow MM saTm gR1 = SRR
Ao feam smar & 2 |
(@) FoEt x SR FEt Yy Th @ Sfem ol # §
IR wf A F wAH § e e Ry
¥ 2,00,000 S HT ITEANT F T T W 12%
o foem & wefe x oW fEd W
®1 W wmfml 7 4,50,000 F TN W 20%
B WY FHEE €
) 15%%mﬁs‘ﬁaﬁaﬂmﬁ%ﬁ
e o geR & qed Sl w9
T aix o it F e A H T
LU

P.T.O.
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( 14 )

(i) 15%%“&[’5%@%@3@%1%
F ST FE G T D ey
dfrdt Yo T AT Eﬁﬁ"ll
(m') Wﬁﬁwﬁﬁqﬂmmmﬁw
- =it
(@) What do you mean_by informatioﬁgl_ Contep; o.r
d1v1dend g | . ‘

(b) The followmg mformatmn for the current year abwt
XYZ Ltd. is available to you :

 Earnings of the Firm L %18,00,000
'No. of equity shares | k _3,00,000
Amount of ‘dividend ﬁaid | < 9,00,000
Réturn‘ on Investment ' 22.5%
Cost. of ‘Bauity” R 5%

__(f) Calculate the present price of the sharg and value
of the firm using Walter's Model.

(ify Is this the 0pt1mum payout ratlo 2 If not, whﬁt
is the optimum payout ratio ?_. What_ is the vale
- of the firm at this payout ratio ? |

(i) What is the payo'ut ratio at which value of
firm will be lowest: ?

(v) What should be the payout ratio if the firm watl?
to keep its share price at ¥ 55 ?

(V)‘ When will the fi rm be. indifferent about paym
of dmdend ?
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(a)

7007

)

(a)ﬁmﬁﬁwﬁﬁr%ﬁmﬁﬁm

(a)ﬁéwﬁwﬁr@naﬁﬁwﬁm%m

-and an investment proposal requiring an ‘nVeStInem i

( 16 ) | _ ..
Or/(a:IWD-. : | 7&’1

Discuss the determinants of the dividepgq -
, | . V,
i

* company.

Relay International belongs to the risk clasg for

jate ca italization rate is 10% [
the approprid p b It i

has 1,00,000 equity shares of ¥ 80 each, |t ; is | hlk
I

i
——

of declaring a dividend of T 4 per share g the

.-ﬁ'

of the year. It is expecting a net mcome of ¥ g )

. # 15 lakh. Show that under MM assumptions, Paymy

of dividend does not affect the value of the firm

and after the issue of new shares. ' I

HIfST |

WW‘FﬁWﬂm%%I adaA § W
@ 7 80 A 1,00,000 SRR IR F1 ® A

%mﬁuﬁﬂmze;%arwﬁw
w3 # 99 @ ¥ TE 7 8,00,000 F LS

EN

P15 W@ B fEaw S eyavasdl ¢
fF MM IS @ ea, e @ T 4
aﬂzaﬁ:ﬂuﬁ%aﬁ@e{a&aﬁﬁﬁ* !
®owfad @ e 1 A

16
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